Appendix A

Data for Two area system
P, =P,,=2000 MW,

H =H>,=5s,
Th=Tp=0.3s,

T,1 =Tp=0.08s,

T, =T»=10s,

K, 1=K, =0.5,

K = Kp = 1.0,

K1 =Ky = 1.0,

Tpi=Tp =20's

D, =D, =0.00833 p.u. MW/Hz,
R =R, =24 Hz/pu. MW,
By =B, =0.425 p.uMw/Hz,
M, =M, =0.167 (p.u. MW)?,
ap=-1,

Tw=1.0s,

APg = AP;»=0.01 p.u. MW.
Prax =200 MW,

2T, = 0.545 p.u. MW,

0l — 02 =30

ch = 1.0, Tdc =(0.2 sec.
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Appendix B

Data for Three area system
P.;=P,,=P,;=2000MW

Kpi =Kpy =Kp3 =120 Hz / p.u. MW
Tpy=Tp=Tp3=20s
K1=K»,=K,;3=0.5
T,.=To=T3=10s
Ti=Tc=Tc3=0.08s
Tr=Tpn=T3=03s
R\=R,=R;=2.4 Hz/ p.u. MW
B1=B,=B3=0.425 p.u. MW/Hz
D\=D,=D;=8.33 X 10~ p.u. MW/Hz

T12 = T23 = T31 =0.08674 p.u. MW/ rad
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